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1) Solve for all values of x in simplest form: x* = 4x — 22 , | g
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2) Given the equation of the parabola y = —(x _:_’)') + 1

a) Find the vertex b) Fmd the focus c¢) Find the equation of the directrix.
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3) Express the roots of the equation —6x =2x" +5 in simples_ti + bi form
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4) Factor completely: 6a° +9ab —3b —2a
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5) Write a possible equation for the function shown below.

BQ? @*35@“23@@ O @;

POSHIVE
odd




ALGEBRA I BENCHMARK 1 REVIEW

6) Solve for all possible roots of x: vx + 4 +Y 7
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7) Write the equation of the parabola Wkgse focus is (3, 2) and whose directrix is y = 10.
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8) Find the product of (-2 + 67) and (3 + 4i) in simplest a + bi form. Show all work and check on the calculator.
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9) Factor completely: x* —2x? —9x +18

10) Write a possible equation for the function shown. : O(Y/\\ dQE: :
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11) The roots of the equation 3x° — 4x + 2 = 0 in simplest form are: L JZ;D—
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12) Factor completely: écs n 3x3+@x N 6) C -
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13) Simplify the expression - 2706153 2
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14) Solve for all values of x in simplest radicatform: 2x* —14x —16=0
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15) Express (2 +31)” in simplest @ + bi form. Show all work and check on your calculator.
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16) The vertex of a parabola has the coordinates of (2, 3) and its focus is located at (2, 4).

a) Find the equation of its directrix.
focus: (29,
b) Find the equation of the parabola. \IQ)LXQ,\L (2 ?)
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